X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
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#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 5 NS: SHEE EEEGI0) 15 1 6 NS: BR1&#E BREISZ(BAC) 23 VP:| 6.57 : 13.43| Total VP: 6.57 Rank:
EW: 527 HEREAC) -23 EW: &30& MEHE(BO) -1 IMP:| 10 20 17
— I -
#1 s 74 3NE-1 50 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-4 200 Mean: 4HS4 620 10.0 1
v AK976 3NE4 -430 -270  2HXN-1 100 50 1 v A974 4HS4 620 130 1NE-5 250 3.0 1
¢ 972 Dif: 480 NS:8 3SE4 170 3.0 1 + KQT7 Dif: -420 NS:2 1NN4 180 20 1
& AKT IMP: 10 EW:4 2Sw4 470 3.0 3 » K9 IMP: -9 EW:-10 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
& Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3SW3 -140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NW5 -660 Mean: 3DE3 110  10.0 1
v AT842 3HS-1-50 -120 3HS3 140 6.0 1 v AQ 3NE5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: -90 NS:-1  3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: -3 EW:-2 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 -420 Mean: 4HW-1 50 80 2(|# 6 a T2 3HN-1-50 Mean: 2HN4 170 40 1
v9 4HW4 -420 -290  4HE-1 50 80 1 v Q9765 2HN3 140 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: -190 NS:-3 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: -5 EW:-3 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 400 Mean: 3NS5 460 4.0 1
v KQT 4SS6 680 590 4SS5 650 20 11 v J876 3NS5460 330 3NS4 430 3.0 3
+ 54 Dif: -30 NS:2 4SN5 650 2.0 1 * AJ Dif: -60 NS:2 3NN4 430 3.0 1
& AT53 IMP: -1 EW:-3 A 00 6 & J943 IMP: -2 EW:-4 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 -620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 4HE4 -620 -680 5HWS5 650 1.0 1 v A6 4SS5650 270 A 00 6
» AB72 Dif: 0 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 0 NS:9 3SS5 200 20 2
& AQJ5 IMP: 0 EW:-2 4HWS5 650 1.0 2 & A85 IMP: 0 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~
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#1: 9 BER(39.1) #2: 1 THE(31.04) #3: 16 prime(30.77)
1 5 NS: B HMEEEIC) 1 5 NS: B REE(BRO) -3 VP:| 10.77 : 9.23 Total VP: 17.34 Rank:
EW: #5E ERZEI0) 3 EW: FEE fE5=R(BAC) 1 IMP:| 27 25 15
—
# 11 » AKT864 4SN-2 100 Mean: 5DXW-3 500 10.0 1 ||# 12 » 86 6HW-1-50 Mean: 6HW-2 100 7.0 1
v 98 2SN2 -110 10  4HW-2 100 3.0 1 v QJ86 6HW-1-50 -210 6HW-1 50 60 9
¢ 92 Dif: 210 NS:3  4CE-2 100 3.0 1 *6 Dif: 0 NS:6 3HW4 470 1.0 1
& Q73 IMP: 5 EW:3 3NE-2 100 3.0 1 & QJT943 IMP: 0 EW:6 A 00 6
s Q5 s J93 2SN2 110 3.0 1 |[|a AKQT9 a5 4HW5 450 6.0 1
v AKQJ6 v 74 4CE-1 50 1.0 1 ||w K743 I v AT52 3NE4 430 6.0 1
¢ QJB3 * K5 3NW-1 50 1.0 1||e9 ¢ AKT74 6HW6 980 -13.0 3
& JT & A86542 3CW-1 50 1.0 1 K8 » A72
F*OVABN 4,72 3CE-1 50 1.0 1 o ¢ VBN o J7432
N ~~~1~ ¢T532 A 00 6||N ~~~~~ v 9
S ~~~ 1~ ¢AT874 4SN-2 4100 30 1||S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 3CW3 110 30 1||E ~~5~6 %6
W 2 ~2~1 2SN-2 4100 -3.0 1 ~~5~5
2HW2 110 -3.0 1
3SN-3 150 -40 1
3HW3 140  -40 1
2HW4 470 50 1
# 13 o J76 5HXS-4 1100 Mean: 2HS2 110 120 1 ||# 14 o T987 4SE-1-50 Mean: 5SE-2 100 30 1
v?2 4SW4 620 -600 3SW4 170 100 1 v AK3 4SE-1-50 -10  4SE-1 50 20 1
* T8 Dif: 480 NS:-1 A 00 6 * K Dif: 0 NS:2 A 00 6
& QJ86532 IMP: 10 EW:11 4sw4 620 -1.0 7 & K5432 IMP: 0 EW:-2 3SE3 140 40 3
& AK954 N ~ QT82 4SE4 620 1.0 2 ||a a AKQJ543 4SE4 420 9.0 1
v 83 v QT76 4SE5 650 -20 1 ||e QJT9875 v6
+ KQ5 + ¢ A762 3NE5 -660 -2.0 1 ¢ AJB52 ¢ 73
& AT7 a9 5CXN-3  -800 5.0 1 |[|a&7 » A96
®OVAN 3 4SXW4 790 -50 1 *OVAN 462
N 2~~~ ~ @« AKJ954 5HXS-4 -1100 110 1 [N 2~~~ ~ ¢ 42
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3HXS-2 500 Mean: 3DS3 110 9.0 1 ||# 16 s J974 2HS-150 Mean: 4SE-3 300 11.0 1
v 4SXN-3 800 -260 5CW-2 100 80 1 96 3NE3 600 -210 4SE-2 200 9.0 1
+ KQ6 Dif: -300 NS:-11 3CW-1 50 70 1 ¢ AQT32 Dif: -550 NS:-9 4SE-1 100 7.0 1
& QT3 IMP: -7 EW:6 3CE-1 50 70 1 » 98 IMP: -11 EW:-4 2HS-1 50 40 1
& AB52 » 98 4SN-1 100 40 1 ||s KQ83 # T652 3CXS-1 100 3.0 1
v4 v A98762 3SN-1 100 40 2 ||v QJ8 — v AKT 2HW2 110 3.0 1
o AJT ¢ 95 4SXN-1 200 20 1 ||e 865 * KJ9 1NE2 120 3.0 3
& AK954 » J76 3SN-2 200 20 2 ||a 753 » AQT 1NE3 4150 2.0 1
FOVAN A 00 6 o OVABN LA A 00 6
N ~2~1~ ¢ KQJT53 4SN-3 300 10 1[N 1~~~ ~ & 75432 4CXS-2 300 -3.0 1
S ~2~1~ 487432 3NN-5 500 60 1||S 1 ~~~~ ¢74 3NE4 630 9.0 1
E 2~~~1 482 3HXS-2 500 60 2 ||E ~~~22 &KJ642 3NE3 600 9.0 4
W 3~~~ ~ 4SXN-3 800 -11.0 1 ~~~21
5HXS-4 1100 -13.0 1
# 17 & 98652 3HE3 140 Mean: 4HW-1 50 80 2 ||# 18 a7 5HN-1 100 Mean: 4HN4 620 120 1
v AQ5 4HW4 420 -300  3SN-1 -50 6.0 1 v AKQJ9 4SXE-1-100 20 3HN4 170 40 1
¢ 82 Dif: -280 NS:-3 3HE3 140 40 1 ¢ 9754 Dif: 200 NS:2 4SXW-1 100 20 1
& KQ5 IMP: -7 EW:-4 2HW4 470 40 1 & AK4 IMP: 5 EW:3 4SXE-1 100 20 4
a7 & AT43 A 00 6 ||as K52 & QJT963 4SE-1 50 1.0 1
v KJ8732 v T96 4HW4 420 -3.0 11| |e 5432 | CX:) 3SE-1 50 1.0 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 A 00 6
& AJ94 » 62 » 82 » QJ5 5HN-1 100 -3.0 2
P VAN ,KQJ oo VAN 4, A8 3HN-1 100 -3.0 1
N ~~~1~ w4 N 4~3~2 ¢T76 3SE3 140 40 3
S ~~~1~ ¢JT743 S 4~3~2 63 4HN-2 200 -6.0 1
E ~~4~1 &T873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 2DN3 -110 Mean: 5CS5 400 60 1 |([|# 20 & AJT853 2CN3 -110 Mean: 3SN3 140 60 1
v AKJ 3NS3 -400 180  3NS3 400 6.0 1 v T 2SN2 -110 -110  2SN3 140 6.0 1
+ Q954 Dif: 290 NS:6 2SW-4 400 60 2 ¢ T7 Dif: 0 NS:6 2SN2 110 60 5
6 IMP: 7 EW:2 2SW-3 300 30 1 » KJ84 IMP: 0 EW:-6 2CN3 110 60 1
& Q96532 a J7 A 00 6 ||aKQ72 a9 A 00 6
v Q9 v 87642 2DN6 170 0.0 1 ||v KJ3 _I_ v Q9872 3DW3 110 0.0 1
¢ J2 * KT7 3CS5 150 1.0 1 ||e K8654 * A93 2NE2 4120 0.0 1
® QJ3 » A92 2DN5 150 1.0 1 ||s » 9765 3HE4 470 220 1
FOVAN , 3DN3 110 20 1 *eVAN 4,064 2HW5 200 -3.0 1
N 44~~3 ¢T53 3CS4 130 20 1 [|N 2 ~~2 ~ v A654 2SN-3 300 -5.0 1
S 34 ~~2 ¢A863 3CN4 130 20 1(|S 2~~2~ ¢QJ2 3NW3 -600 -10.0 1
E ~~~~~ & KT8754 2NN2 120 20 1||E ~34~1 &QT32 4HE4 620 -11.0 2
W o~~~ ~ ~ 2DN3 110 20 2 ~34~1
5DN-1 50 6.0 1
3NS-1 50 6.0 1
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#1: 9 BEA(54.15) #2: 1 %‘%(41 04) #3 8 A Ju\%ﬁ T7(38.42)
1 5 NS: & E MEEEIC) -12 4 NS: BREf haFi(F0) -30 P:| 15.05 : 4.95 | Total VP: 32.39 Rank:
EW: S8 ZERZEF0) 30 EW: [R¥ % BRZ50\(BAC) 12 IMP:| 17 6
I A
# 21 a8 3NW4 430 Mean: 4HW-2 100 9.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-2 500 9.0 1
v JT63 3NW4 430 -270 5CE-1 50 80 2 v38 3CS3-110 110  2HXE-1 200 3.0 1
¢ 8532 Dif: 0 NS:-4 2CE-1 50 80 1 ¢ J842 Dif: 10 NS:0 2NS3 150 1.0 1
& AB75 IMP: 0 EW:4 3HW3 140 40 1 & AK87 IMP: 0 EW:0 A 00 6
» AJ73 s Q 3CE4 130 40 1 ||a A8654 s Q2 3CS3 110 00 2
v AK754 v Q2 A 00 6 ||e75 — v AQJ642 2HW-1 100 00 2
* 76 | + AJT4 anwa 420 40 1 ||e k63 + 975 2HE4 100 00 7
& 43 & QJT962 3NW4 430 -40 7 ||a J95 ~ QT 3SN-1 50 40 1
% ¢ VBN 4 KTI6542 3NE5 460 -50 1 FOVAN 4, K3 2SN-1 50 4.0 1
N ~~~~~ v 98 2SXS-2 -500 -6.0 1 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3CW3 110 Mean: 3CXE-1 200 30 1 ||# 24 » J6 3SW3 140 Mean: 4SW-1 50 40 1
v AKQ92 2HN3 -140 100  2SW-2 200 30 1 v Q52 3SW4 170 -110  3NE-1 50 40 1
¢ 543 Dif: 250 NS:1  3HN4 170 2.0 1 ¢ A93 Dif: -30 NS:-2 2SW-1 50 40 1
& A6 IMP: 6 EW:5 2HN4 170 2.0 1 & QJ862 IMP: -1 EW:1 1NE1 -90 1.0 1
& T7632 a K 1NN4 180 20 1 & AQ872 A T54 A 00 6
85 + v T64 INN3 150 20 2 ||e K76 v AJTO 28W2 10 00 2
+ Q876 * AKJ 3HN3 140 1.0 2 ||e QJ4 * K75 1NE2 120 0.0 1
& 97 S a KQ8432 2HN3 140 1.0 3 a K97 3SwW3 140 1.0 2
e VABN oA4 A 00 6 oo VAN 4 K3 1NE3 150 1.0 1
N ~~313 «J73 2HN2 110 00 1 ||N ~~~~~ v 843 3SW4 470 20 4
S ~~313 ¢T92 3CW3 410 50 1||S ~~~~~ + T862 1NE4 180 20 1
E 21~~~ &JT5 3CE3 110 50 1 ||E ~~3 32 &A53 2NE5 210 -3.0 1
W 21~~~ 28S-2 200 70 1 ~~332
# 25 43 4HN5 -450 Mean: 4HXN4 500 50 1 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 110 3
v AK9852 4HN5 -450 390  4HN5 450 2.0 10 v J73 4SE4 620 -490 A 00 6
o JT Dif: 0 NS:2 4HN4 420 1.0 1 ¢ K983 Dif: 0 NS:-4 4SE5 650 -40 4
» K865 IMP: 0 EW:2 A 00 6 » AJBB3 IMP: 0 EW:4 4SE4 620 -40 9
& QT985 » K642 3HN5 200 -50 3 ||s Q876 & AKJT52
v 63 v Q4 3HN3 140 6.0 1 ||w A652 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE5 450 Mean: 6NE-6 300 100 1 ||# 28 a8 3NS-2 200 Mean: 4HW-3 150 50 3
v Q7 4HW5 450 -190  6HW-1 50 60 6 v AJ874 2HN-2200 -50  3NXW-1 100 40 1
* T987432 Dif: 0 NS:-6 3HE4 470 1.0 1 ¢ QT975 Dif: 0 NS:-4 3NW-2 100 40 1
& AT7 IMP: 0 EW:6 A 00 6 & 97 IMP: 0 EW:4 3NE-2 100 40 1
a K97 ~ A8653 5SE5 450 -6.0 1 ||a AK762 a 95 4SW-1 50 30 1
v AK9652 v J4 5HW5 450 -6.0 1 ||w K963 | v QT2 4CE-1 50 30 1
¢ A6 * KQ 4SE5 450 60 1 ||e AK ¢ 864 3NE-1 50 30 1
'y a KJ42 4SE4 420 60 2 ||a Q5 » KJ632 A 00 6
* eV AN ,QJ42 4HW5 450 -6.0 3 * ¢V AN 4, QJT43 1SW1 80 1.0 1
N ~~~~~ v T83 N ~1~~~ 5 3DN-1 4100 20 1
S ~~~~~ ¢ J5 S ~1~~~ ¢J32 3NS-2 200 -40 1
E ~~555 #9653 E 2~222 a&AT84 2HN-2 200 -40 1
W ~~555 2~222 3NE3 400 -8.0 2
3NE5 460 9.0 1
# 29 4 643 3HW-1 -100 Mean: 3NS3 600 11.0 2 ||# 30 473 3NE3 400 Mean: 3NW-3 150 50 1
v T7 3CS3-110 100  2NS3 150 2.0 1 v 74 3NE-3-150 -40  3NE-3 150 50 1
* Q92 Dif: 10 NS:0 2Cs4 130 1.0 1 ¢ A732 Dif: 550 NS:5 3CW-3 150 50 1
& AKJT6 IMP: 0 EW:0 A 00 6 & QJ732 IMP: 11 EW:8 3NW-2 100 40 1
a KJ8 N a T97 3HW-1 100 0.0 2 ||a AT & Q984 3NE-2 100 40 1
v A8653 v 942 3Cs3 110 00 4 |[|v 98 v AQJT5 3NW-1 50 30 2
¢ KIT + ¢ A8743 2cs3 110 0.0 1 [|e QT9 + J86 3CwW-1 50 30 1
& 85 » 32 3NS-1 100 -50 4 ||a& AKT865 a4 2CW-1 50 30 2
¢ VAN 4 AQ52 3Cs-1 4100 50 1 % ¢ VBN 4 KIGE2 A 00 6
N 2~~21 vKQJ N ~~~~~ v K632 2HE2 110 20 2
S 3~~22 #65 S ~~~~~ + K54 2HE3 140 3.0 1
E ~21~~ Q974 E 1~3~2 &9 3NE3 400 -8.0 3
W ~21~~ 1~3~2
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#1: 9 BEAZ(69.2) #2: 1 FHEE(53.55) #3: 13 B (51.28)
1 5 NS: HE& BABEIC) -24 2 NS: E51E ZRZ(FH0) 8 VP:| 2.32 17.68 | Total VP: 34.71 Rank:
EW: #5855 EZZEI0) -8 EW: EZE M 3L7IIE(BAC) 24 IMP:| 10 39 18
-
# 1 aJ 4HS4 -420 Mean: 4HXS5 690 9.0 1 ||# 2 a8 4SW-1 -50 Mean: 4SW-1 50 60 1
v AQJ72 4HN4 -420 270  4HXN4 590 80 1 v KT94 4SW4 420 -170  4SE-1 50 60 1
¢ 643 Dif: 0 NS:4 4HS6 480 50 1 ¢ QJ874 Dif: -470 NS:-6 P 0 50 2
» 7652 IMP: 0 EW:-4 4HS4 420 40 4 » QJ2 IMP: -10 EW:-6 3SE3 140 1.0 5
# 9632 s Q74 4HN4 420 40 4 ||a AQJT & 97432 2NE3 150 1.0 1
v v T86 A 00 6 ||v J63 I v A5 1NW3 4150 1.0 1
¢ AKJ ¢ QT9872 5CXW-1 100 -50 1 ||e T96 ¢ AK5 A 00 6
& AKJT84 a9 5DE-1 50 6.0 1 [|& K96 ~ T74 1SE4 470 0.0 1
% ¢ VAN 4AKTBS 5HN-1 50 80 1 ¢V BN 4, K65 4sW4 420 6.0 2
N ~ ~ 4 ~ ~ ¢ K9543 5HXN-1 4100 90 1[N ~~2~~ & Q872 4SE4 420 6.0 2
S ~~4~~ 45 5CXW6  -650 -140 1 ||S ~~2 ~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 s T82 1NW3 150 Mean: 3NW-3 300 60 2 |[|# 4 » KJ653 4S5S4 -620 Mean: 4SN6 680 2.0 1
v J52 1NW-1-100 40  3DW-1 100 20 2 v 942 4SN5 -650 620  3NS6 690 2.0 1
+ K8 Dif: 250 NS:2 3DE-1 100 20 1 ¢ T5 Dif: 30 NS:1 5SN5 650 1.0 1
& AQ974 IMP: 6 EW:5 2NW-1 100 20 1 & J95 IMP: 1 EW:0 4SS5 650 1.0 2
s Q3  J976 2HS2 110 20 1 ||a 974 a2 4SN5 650 1.0 7
v AQT9 v K3 1NW-1 100 20 2 ||e T876 + v K53 A 00 6
¢ AQ972 ¢ J53 1NE-1 100 20 1 ¢ QJ94 ¢ AK863 4S8s4 620 00 1
& K3 » 8652 A 00 6 64 & T872 4SN4 620 0.0 2
% ¢V BN 4 AKS4 3CN-1 50 3.0 2 ¢V AN 4 AQT8 3SN5 200 9.0 1
N 1~~1~ 98764 1NW1 90 40 1[N 5~~52 v AQJ
S 1~~1~ ¢T64 2HS-3 150 50 1||S 5~~52 ¢72
E ~2~~~ aJT 1INW3 50 50 2 [|E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5HS-3 300 Mean: 4HS5 650 14.0 1 ||# 6 & 98753 6NW7 1470 Mean: 3SE7 260 150 1
v J7653 5SXE6 750 -280 3NS4 630 140 1 v K85 6NE7 1470 -1520 6DW7 1390 4.0 1
* AQT2 Dif: -450 NS:-10 5SXE-2 300 11.0 1 * 84 Dif: 0 NS:2 6NW7 1470 2.0 3
» 84 IMP: -10 EW:1 3HN4 170 100 1 » QT3 IMP: 0 EW:-2 6NE7 1470 2.0 6
s T762 » KQ843 5HS-2 200 20 1 A » KQJT4 6NE6 1440 20 2
v KT2 v 4HN-2 200 20 1 ||v AQJ97 — v 63 A 00 6
+ J98653 A 00 6 ||e AKQJ7 ¢ 32 TNW7 2220 120 2
& AQ6532 » JT 5HS-3 300 1.0 1 62 » AK85 7TNE7 2220 120 1
B+ OV AN ,A0 4SE4 420 -40 1 FOVABN 4,62
N ~~ 2~ ~ ¢ AQ984 4SE6 480 50 2 |IN ~~~~~ v T42
S ~~2~~ oK74 5HXS-2 500 60 1 ||S ~~~~~ o T965
E 4 ~~5~ K97 4SXW5 690 90 1||E ~76~7 &J974
W 4 ~~5 ~ 5SXE6 750 -10.0 2 ~76~7
4SXE6 790 -11.0 2
#7 s A7 1HW-2 -200 Mean: 3NN5 660 60 5 ||# 8 » J972 4DW-1 -50 Mean: 6DW-3 150 40 1
v AKJ32 3NN-1100 430  3NN4 630 50 3 v J8753 2SS2-110 10  3sS3 140 40 2
+ AQ3 Dif: -300 NS:-11 3NN3 600 50 1 ¢ 72 Dif: 60 NS:3 2SS4 170 40 1
& K86 IMP: -7 EW:6 A 00 6 & K4 IMP: 2 EW:-1 2SS2 110 30 2
QT # J9854 2HW-4 400 10 1 |[aA ~ T84 4DW-1 50 1.0 3
v QT9876 + v5 W3 300 40 1 || A4 v T92 A 00 6
* K9 ¢ J842 1NN5 210 -6.0 1 ||e K96543 * AJ8 38S-1 50 20 2
& A43 S a J95 1NN4 180 6.0 1 ||a JT7 & A532 488-2 4100 -3.0 1
% ¢V BN K632 1HW-2 200 6.0 1 % ¢ VAN o, KQG53 4DW4 130 40 2
N 55~~4 94 3NN-1 100 110 1 ||N ~~~2 ~ ¢ KQ 3DW4 130 40 2
S 55~~4 ¢T765 3HN-1 4100 110 1||S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW-1 -100 Mean: 4HW-1 100 9.0 5 ([|# 10 4 AJ5 3HE4 170 Mean: 2SS3 140 60 1
w5 4HW4 620 -300 4HE-1 100 9.0 1 v T5 3HE3 140 -110 2SS2 110 6.0 1
* AJB6 Dif: -720 NS:-8 2HW4 170 40 2 ¢ JT73 Dif: 30 NS:-1 P 0 30 6
» 964 IMP: -12 EW:-9 A 00 6 & QJT5 IMP:1 EW:2 A 00 6
& AK32 » Q8 3NW3 600 -7.0 1 ||a Q76 » K2 288-1 4100 0.0 2
v J983 v K7642 4HW4 620 -8.0 5 ||ew A972 _I_ v KJ863 3HE3 140 1.0 1
¢ KT ¢ Q43 4HE4 620 -80 1 ||e 4 * K962 1HE3 140 1.0 1
& AJT » Q83 4SXN-4 800 -11.0 1 | |a A8632 » 74 3HE4 470 20 1
¢VABN 465 % ¢ VBN 4 T9843 1NN-2 200 -3.0 1
N ~1~~~ 9AQT N ~2~1~ vQ4 4HE4 620 -11.0 2
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
1 5 NS: SHEE EEEEFIC) 4 6 NS: $E{#& EEE(FO0) -171 P:| 15.75 : 4.25 Total VP: 50.46 Rank:
EW RS BRBEHO) 17 EW: FREEE HB&l3Z(BAC) -4 IMP:| 36 17 10
# 11 'y T632 6HW6 980 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 110 Mean: 4DS4 130 50 1
v3 6NE6 990 -850 4HW6 480 9.0 2 v AKT8 3DS4 130 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 240 NS:5 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 6 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 -650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CE-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 -650 670 A 00 6 v T9632 3NW4 430 -170 5CE-1 50 60 3
. Dif: 0 NS:-1 4HN6 680 00 8 o AJ7 Dif: -480 NS:-6 3NW-1 50 60 1
& AT765 IMP: 0 EW:1 4HN5 650 1.0 7 & IMP: -10 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 5DW-2 -100 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SS3 -140 Mean: 4SS4 420 8.0 1
v 74 2SE4 170 -240 2HS2 110 80 1 v J4 2SS3-140 70  3HW-3 300 6.0 1
¢ T86 Dif: -270 NS:2 3SE3 4140 30 1 ¢ JT8 Dif: 0 NS:2 2SN4 170 30 1
» J864 IMP: -7 EW:-8 3DW5 4150 3.0 1 » AQ64 IMP: 0 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW4 430 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE4 420 Mean: 4SE-2 100 30 2
v K764 3NW-1-50 -270 2NE2 120 40 1 v 863 4SE-1-50 -20  2NE-2 100 30 1
¢ 976 Dif: 480 NS:8 A 00 6 + K764 Dif: 470 NS:2 4Sw-1 50 20 1
& J82 IMP: 10 EW:4 3NW4 430 -40 2 & A4 IMP: 10 EW:9 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 -450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3NW3 600 Mean: 3SXN3 730 120 1
v KQ842 4HN5 -450 480 A 00 6 v AT5 3DE3110 10  3NXW-2 500 100 1
¢ 65 Dif: 0 NS:-1 4HS6 480 00 1 *J Dif: 490 NsS:-3 2SN3 140 40 2
& AQ8 IMP: 0 EW:1 4HN6 480 00 3 » KJ83 IMP: 10 EW:12 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




St - - Z
6 1NEFF2ABEEEFR 2 == R6 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 5 NS: HE& BABGHO) -18 17 NS: At 4 RAIE(BAC) 30 VP:| 0.14 19.86 | Total VP: 50.60 Rank:
EW: BEEE #HSBEEIC) -30 EW: RiEF5 BEE(BAO) 18 IMP:| 0 46 17
I — I -
# 1 Iy _fr\gg 3DE4 -130 Mean: 2CW-2 100 50 1 |[[# 2 'S ﬁg 4HWS5 -450 Mean: 2DXS3 380 9.0 1
v 3DE3 -110 -70  2CS2 90 40 1 v 3HW-2 100 -40  5HW-2 100 40 1
* A4 Dif: -20 NS:-2 4DE-1 50 30 1 ¢ AJ32 Dif: -550 NS:-9 4HW-2 100 40 2
» K9872 IMP: -1 EW:1 P 0 20 3 & AQT75 IMP: -11 EW:-4 3HW-2 100 40 2
» JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-3 -150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-1-50 -40  3SS3 140 50 3 v AJ 3NN5 660 600 3NS5 660 2.0 1
. gg Dif: -100 NS:-3 2SS2 110 40 2 . 59632 Dif: 0 NS:2 3NN5 660 2.0 10
& IMP: -3 EW:0 A 00 2 & IMP: 0 EW:-2 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 -420 Mean: 2SW4 170 60 1 ||# 6 ' &/35632 3NE3 -600 Mean: 4HE-3 300 80 1
v 4HE4 -420 -420  3NE3 400 1.0 1 v 2SXN-2 -300 -30  4HW-2 200 6.0 2
¢ 763 Dif: 0 NS:0 A 00 2 ¢ AK74 Dif: -300 NS:-11 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: -7 EW:7 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A54 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2-100 Mean: 3NS3 400 10.0 2
v ﬁ? ” 7SS7 2210 1640  7NS7 2220 110 2 v i K54 3NS3400 -30 2SS2 110 40 1
¢ Dif: 0 NS:11 A 00 2 * Dif: -500 Ns:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: -11 EW:-10 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 2SN4 170 Mean: 4SXXN4 1080 12.0 1
v §094 4SS6 480 430 4SS5 450 1.0 13 v AQ 4SXN4 790 370  4SXN4 790 9.0 5
. Dif: -30 NS:1 A 00 2 * Dif: -620 NS:-5 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-2 4SS4 420 00 4 & T9865 IMP: -12 EW:-9 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 5 NS: EEZE SERAEIC) -20 1 1 NS: $E3555 BRER(F0) 18 1.03 18.97 | Total VP: 51.63 Rank:
EW: & B HEEREHO) -18 EW: EFE RHI5(BAC) 20 IMP:| 1 39 19
I .
# 11 52 6DS7 -940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE6 490 Mean: 5NE-2 100 110 1
v A96 7DS-2100 540  6NS6 990 100 2 v J85 6CW6 920 -430 3NW3 400 1.0 1
* KT Dif: -1040 NS:-12 6DS7 940 9.0 3 + Q7532 Dif: -430 NS:-10 3NE3 400 1.0 1
» KJ832 IMP: -14 EW:-9 6DS6 920 9.0 2 » 183 IMP: -10 EW:2 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 50 Mean: 4HN4 420 8.0 1
v QJ876 4SW5 650 -360  4SE-2 200 110 1 v AQJI75 5CS-150 70 3NS4 430 8.0 1
+ Q3 Dif: -30 NS:-7 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:-3 4Cs4 130 20 2
& QT8 IMP: -1 EW:6 4SE-1 100 100 1 & Q3 IMP: 0 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A 7CW-1-50 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2DN-3 150 Mean: 3CE-3 300 100 1
v 7642 4SW6 480 -640 5CW6 420 6.0 2 v4 2SW2 110 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -530 NS:4 4SW6 480 40 4 ¢ QJ9653 Dif: 40 NS:2 2SW-1 100 7.0 1
» 183 IMP: -11 EW:-12 3NE6 490 40 3 » K532 IMP: 1 EW:-1  2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW4 170 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4HS4 -620 Mean: 4SN6 680 4.0 2
v Q 3HW4 170 -100  3DN3 110 50 2 v AQ92 4HS4 -620 520  4SN5 650 4.0 3
¢ AJT965 Dif: 0 NS:-2 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: 0 EW:2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 4 KT8 2DXS2 -180 Mean: 2DXS2 180 60 1 |([|# 20 46 4SW4 620 Mean: A 00 2
v 84 1NN1-90 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: -90 NS:5 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -3 EW:-6 3DN-1 50 1.0 1 » KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 » A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




X AN >\ ¢ —_—
8 [MEEZ2RABERFLB 2 ==> RS 8
1 +
AVA
#1. 9 BEAR(107.06) #2: 19 £ 445(98.13) #3: 13 BUk (94.86)
1 5 NS: SRR FHEEEIC) 1 12 NS: B STRM(BAO) -5 VP:| 1218 : 7.82 | Total VP: 63.81 Rank:
EW: 5 & BRBEIO) 5 EW: #ZF B#&R(BAC) 1 IMP:| 11 5 20
e
#1 » KQ872 3NN-2 100 Mean: 3NXE-3 500 11.0 1 [[# 2 s J5 4SW6 480 Mean: 4DE6 170 6.0 1
v KQJ4 3NS-2100 -50  3NS3 400 100 1 v KT95 4SW6 480 -420 2SW5 200 6.0 2
¢ 75 Dif: 0 NS:-2 3CS3 110 40 1 + K9 Dif: 0 NS:-2 A 00 2
» 93 IMP: 0 EW:2 A 00 2 & KQ953 IMP: 0 EW:2 4SW5 450 1.0 7
s J54 & AT63 3Cs-1 50 0.0 3 ||a AQT763 # 984 4SE5 450 1.0 2
v T8652 v A 3CN-1 50 00 1||e6 I v A2 4SW6 480 2.0 8
¢ KT982 ¢ QU43 3NS-2 100 -20 2 ||e QJE2 ¢ AT87
- » QJ72 3NN-2 4100 20 1 ||a76 » AJ84
FOVAN L9 5HN-3 4150 3.0 1 FOVAN 4 K2
N 2~~~1 9973 5CS-3 150 30 1[N ~~1~~ & QJ8743
S 2~~~1 A6 3NS-3 150 30 5||S ~~1~~ 543
E ~4 ~1~ &AKT8654 3NN-3 150 -3.0 1 E ~7~66 &T2
W o~ 4 ~1~ 4HN-4 200 -40 1 ~7~66
4CXS-2 300 6.0 1
# 3 » Q863 2HE4 170 Mean: 2SS-1 -50 30 1 (|# 4 a K7 2DN3 -110 Mean: 3SW-3 300 60 1
v Q874 2HW2 110 -150 2CN-1 -50 30 1 v 52 2HW-2 -200 40 3SW-2 200 4.0 1
¢6 Dif: 60 NS:1  3CN-2 4100 20 1 ¢ Q87542 Dif: 90 NS:4 2HW-2 200 4.0 1
& KJ74 IMP: 2 EW:1 2SS-2 4100 20 1 & 984 IMP: 3 EW:-2 3DN3 110 20 4
& AK54 a 97 2SN-2 4100 20 1 ||a AQJSE a 943 2SW-1 100 20 1
AT v KJ652 3DE4 130 1.0 1 ||e A4 _|_ v J8763 2DN3 110 20 4
¢ AJT8 ¢ Q932 2NW2 120 1.0 1 ||e T9 ¢ J63 2DN2 90 20 1
& 852 a T3 2HW2 110 1.0 1 ||s AQ75 » 63 A 00 2
® VAN ,JT2 1NE2 4120 1.0 1 F VAN 4 T52 3DN-1 100 -40 6
N 1~~~~ 993 A 00 2(IN 22~~~ #»KQT9 3DN-3 300 8.0 1
S 1 ~~~~ ¢K754 3HE3 140 00 1||S 23~~~ ¢AK
E ~44~3 &AQ9% 2SN-3 150 00 1 ||E ~~~1~ &KJT2
W ~44~3 2HW3 140 00 1 ~~~1~
2HW4 470 1.0 6
2HE4 470 1.0 1
3NW3 600 -10.0 1
#5 & K5 4SE4 420 Mean: 4SE-1 50 80 2(|# 6 4 K8 4HN5 -450 Mean: 4HS5 450 10 3
v AJT9863 3HN-2200 -300 3HN-1 100 50 1 v AK9632 4HS5 -450 410  4HN5 450 1.0 15
¢ 92 Dif: 220 NsS:3 3SE3 140 40 1 + AK4 Dif: 0 NS:1 A 00 2
» Q2 IMP: 6 EW:3 2SE4 170 40 1 » Q8 IMP: 0 EW:-1 3HN5 200 -50 1
& AQ98 » T6432 2SE3 140 40 1 ||a 765 & QJT94 6HS-1 50  -10.0 1
v Q42 v K 3HN-2 200 30 1||w4 — v T7
¢ A43 * QJ76 A 00 2 ||e T98765 ¢ Q2
& AT5 & K84 4SE4 <420  -3.0 9 ||s AK4 & J632
FOVAN ,J7 3NW3 400 3.0 2 POV ABN 4 A32
N ~~~~~ w75 3NW5 460 -40 1|IN ~~5~4 » QJ85
S ~~~~~ ¢ KT85 3NW4 430 -40 1||S ~~5~4 ¢J3
E ~3~41 #J9763 E ~~~~ ~ * T975
W ~3~41 W o~~~ o~
#7 » AQ95 3NN6 -690 Mean: 4HN6 680 80 1 |[|# 8 » K973 4SN5 -450 Mean: 4SS5 450 1.0 3
v A8 3NN5 -660 360  3NN6 690 80 3 v A7 4SN5 -450 410  4SN5 450 1.0 14
+ K963 Dif: -30 NS:7  3NN5 660 7.0 2 ¢ AQT7 Dif: 0 NS:1 A 00 2
& Q42 IMP: -1 EW:-8 5DS5 600 60 3 & A7 IMP: 0 EW:-1 3SN5 200 50 1
a KJ4 a T8762 5DN5 600 60 1 ||as A54 aT 2SN5 200 -50 1
v 7432 + v Q6 N3 600 60 2 ||w KO v QU632 sNa 170 60 1
¢ T + Q82 A 00 2 [|e 8652 ¢ 943
& A9863 S a KJ7 4DS4 130 6.0 1 ||a KJT4 » Q652
*OVAN o3 3Ds4 130 6.0 2 oo VAN 4, QJBE2
N ~55~4 ¢ KJT9 5DS-1 100 -10.0 2 [N ~~~53 & T854
S ~55~2 ¢AJ754 5DN-1 4100 -10.0 1 ||S ~~~53 ¢ KJ
E ~~~~~ &T5 3NN-2 200 110 2||E 1 ~~~~ &83
W o~~~ ~ ~ 1~~=~~
#9 4 AB6 5CW-1-100 Mean: 6CXW-3 800 12.0 1 ||# 10 a T2 2SW3 140 Mean: 3SW-3 300 50 5
v J3 4SS-150 190 5CXW-2 500 7.0 1 v K6 3SW3 140 100 2SW-2 200 3.0 2
» KQ7542 Dif: -150 NS:-6 4SS4 420 60 6 o AT932 Dif: 0 NS:-6 3DS5 150 2.0 1
& 74 IMP: -4 EW:3 A 00 2 & A754 IMP: 0 EW:6 3DN5 150 2.0 1
45 a J42 3883 140 20 2 ||a AKJ973 # 854 3Ds4 130 1.0 2
v KT94 v 8765 5HE-1 100 -3.0 1 ||e JT82 _I_ v Q97 3DN4 130 1.0 2
*9 ¢ AT63 5CW-1 100 30 2 [|e J4 ¢ Q7 A 00 2
& AKQT853 a J2 58S-1 50 60 2 |[|a6 » KJ983 3DS3 110 00 1
% ¢V BN 4 KQTI73 4SS-1 50 60 3 +OVAN ,QF 2SW2 110 50 1
N ~2~3~ vAQ2 3CW3 110 70 1 |IN 24 ~~1 » A543 3SW3 140 6.0 1
S ~2~3~ ¢J8 4CW4 130 -80 1||S 24 ~~1 ¢ K865 2sW3 140 60 4
E 4~3~~ 89 E ~~~~~ & QT2
W 4~3~~ W~~~ ~ -
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AYA
#1: 9 BE2(124.74) #2: 13 ﬂ%ﬁi(llz 86) #3: 7 Cyclops(lOZ 6)
1 5 NS: (B80) 0 22 NS: (FC) 0 VP:| 12.00 : 0.00 | Total VP: 75.81 Rank:
EW: (FHC) 0 EW: (B10)0 IMP:| 0 0 18
—
# 11 » QJT42 A Mean: 5CXW-1 100 6.0 5 |[# 12 a3 A Mean: 5HN5 650 4.0 1
v Q975 A 160  5CW-1 50 50 3 v KQ92 A 500 4HS5 650 4.0 1
¢ J53 Dif: 0 NS:0 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 0 EW:0 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 a K A Mean: 3NS5 660 30 6 ||# 14 a4 A Mean: 3NS3 400 9.0 1
v J2 A 540  3NS4 630 30 7 v AT3 A 10  2NS2 120 40 1
¢ AKT8752 Dif: 0 NS:0 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:0 2NN2 120 40 1
& AT7 IMP: 0 EW:0 3NS3 600 20 1 & K753 IMP: 0 EW:0 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ £6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 A Mean: 4SE-1 50 50 1 |[|# 16 4 K975 A Mean: 3CE-2 200 50 1
v 92 A 130  2NE- 50 50 1 v AB42 A 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 0 NS:0 3NE-1 100 30 1
& AT532 IMP: 0 EW:0 2SW2 410 1.0 2 » 874 IMP: 0 EW:0 3DS3 110 3.0 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 * AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 2.0 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 A Mean: 6HW-1 50 11.0 1 [|# 18 # 952 A Mean: 3NS6 690 3.0 1
vb6 A -470  4HE4 420 20 1 v A43 A 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:0 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:0 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 * QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QJT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 A Mean: 6HE-2 200 100 1 ||# 20 o AT64 A Mean: 2HE-1 100 60 1
v KT5 A -290 5HE- 100 9.0 1 v KJT A 140 2DS2 90 60 1
92 Dif: 0 NS:0 4HE-1 100 9.0 5 + QJ82 Dif: 0 NS:0 1NE1 -90 20 1
» 532 IMP: 0 EW:0 3DS-1 50 6.0 1 & QT IMP: 0 EW:0 2SS-1 4100 1.0 1
JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




